¥ Rk 26 4F FE

KEKPOBGFEMERIEHER
BT & K &8 (KEK)
kB - AR G| e aish
T2 64E4 4230 (K) -« % FRkER Ak (<0.7) | AR (<0.8) [ AfH (<0.6)
T2 64E4 423 H (k) - BAKAKE AR (<0.8) | A (<0.7) | A (<0.6)
T2 64E5 428 A (k) -« kI Bk Ak (<0.7) | AR (<0.9) [ A (<0.7)
k2 6455 H 2 8 H (k) - BiA#kEE Ak (<0.6) | A (<0.7) [ A (<0.7)
Fp2 6461250 (OK) - ,REF 24Kk | AR (<0.7) | AR (<0.6) | A (<0.7)
WRL2 64E6 425 H (K) - BiAKIAE AR (<0.7) | A (<0.7) | AR (<0.7)
Fp2 64712 30 OK) - *FEIRE 2 fakie | AR (<0.5) | AfRH (<0.8) | A (<0.6)
ERL2 64E7 A2 3 H (K) - BiAKIKER AR (<0.6) | A (<0.8) | R (<0.6)
TR 2 64E8 A2 7T H (K) « A KEAMAK AR (<0.7) | A (<0.7) | R (<0.7)
W2 64E8 A 27 A (k) - AR AR (<0.7) | AR (<0.9) | A (<0.6)
VA2 649 240 (k) - kE ) Fakk AR (<0.6) | AR (<0.7) | AR (<0.7)
WRL2 64E9H 24 (K) - BAKIAE Ak (<0.8) | A (<0.9) [ A (<0.6)
Fp2 6410230 OK) - k= Fkkie | AR (<0.8) | A (<0.9) | A (<0.8)
W2 645100230 (k) - iAkAkk AR (<0.7) | A (<0.8) | R (<0.7)
FRE2 64E1 1H26 0 (k) - % Bk | A (<0.9) | A (<0.7) | A (<0.7)
R 2 64E1 1A 26 H (K) - BiAkA AR (<0.8) | A (<1.0) [ A (<0.7)
ERL2 64E1 224 H (K) - hREF 2R | AR (<0.7) | R (<0.7) | A (<0.7)
ERR2 64120240 (k) - BiAGAkR AR (<0.7) | A (<0.7) | AR (<0.7)
R 2 7T 28R (OK) - KFIRE 24Kk | AR (<0.7) | AR (<0.9) | A (<0.6)
A2 THETA 28 (k) - diAdaki: ARt (<0.7) | A (<0.8) | A (<0.8)
ER2 TAE2H 250 (k) - *KEAmKRE AR (<0.9) | A (<1.0) | AfH (<0.7)
W2 THE2A 250 (k) - Ak Ak (<0.5) | A (<0.8) | A (<0.7)
ER2 TAE3HA 250 (k) - *E Tkt AR (<0.7) | A (<0.9) | A (<0.7)
W2 THE3A 250 (k) - Bk AR (<0.7) | A (<0.9) [ AR (<0.7)
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